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3. x2—18 —
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@ 3x2 4 18x+27 = 3(x+[ )2

@ 9x% - 24x+16 = (_|x—4)?

® 2x2-72=2(x+6)(x-2x| )
@ 6x2—17x+12= (2x-[ ])(3x—-4)
® x2-20x+91=(x-7)(x=[_)



© x2-9

@ x2+6x+9

® 242+ 7x+3

© x2-x-12

@ x*-x-2
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9. 2x%-8xy? & AsESfoH?

@O x(x+2y)(x—2y) @ 2x(x+2y)(x—2y)
® 2(x+ 2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x—2y)



10. Ax? +36x+B= (2x+C)% oA ¥ A, B, C 9] T o14?

@ 4 @ 9 ® 81 @ 90 ® 94



11. Vx=a-29 9, Vx—4da+ 12— Vx + 2a -3 = 75| shA? (H,
2<a<4)

DO -2a+5 @ 2a-5 ® 5
® —2a-3 ® —2a+3
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@ 2x% - 8x% — 10x = 2x(x? — 4x - 5)

=2x(x-5)(__)
© (x+y)2+3(x+y)+2°A[ |5 A = Ag3t

D x-1,x-y @ x-1,x+y ® x+1,x-y

@ x+1,x+y ® x, x+y
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14. 95 F % -y -0’ +xy & d5E?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y



15, -9x° +y* + 6xz - 2% & YFENSFATY (ay - 3x+2)(y + bx + c2)
7F =t o, 4 a, b, ¢ ol ot a+ b+ ¢ O] F& F5HH?

@1 @ 2 ® 3 @ -1 ® -2
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-8yt = (2 +[_ P+ - b

® 13 @ 15 ® 18 @ 20 ® 24
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2 VB 2 V3 2
130 + 75 V5 120 + 75 V3
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19. oA (x+1)(x+3)(x+5)(x = 1) + p 7} LA FA] 0] HES 5=
p = Fstofzt.

Ll gip=






